
3-8



1010*585*500mm

DC 12V4.5AH 、12V7AH

F7A, Self-resetting

3-8 years

0.5A、1A



Wheel 
cap 

Wheel  

Right 
door 

Windshie
ld

Rearview 
mirror

Drive 
motor

Drive 
wheel 
Connect
or

Rear 
support

Front 
support

Left 
door1

1

Steering 
wheel

Vehicle 
body 1

2

2

11

Shock 
absorber 
trim

Seat

5 2

4



Ø

ST4.0*12

Charger

Rear 
backres

M10 Nut

1

1

1

1

1Rear 
backrest 
R

Rear 
backrest 
L

Aft 
shaft

Rear 
axle

Nut 
wrench

20

21 22

23 2471

2

2

4

1

Ø 10

25

1

26

27

2

2

Rear 
axle 
seat1

Rear 
axle 
seat 2

28
Rear 
axle 
seat 
spring

2





Assembly tool needed: screwdriver(not included) and wrenches(included)

Don't use it in dangerous places such as streets, roads and landslides, and it 
must be used under the supervision of adults
Fasten your seat belt and make sure your baby is always seated，meanwhile，
don't let the baby stand or do some dangerous actions while running



1、Install the rear axle and front steering component

2、Installing front shock absorber trim

As shown in the figure, install the shock absorber trim in the designated area , and then use 
ST4.0×12MM screw to fix it.

a.

b.

a：As shown in figure a, place the spring and shaft sleeve into the rear axle fixing seat，and 
     pass the rear axle through to fix it.Then fix the assembled rear axle seat on the vehicle body 
     with a ST4.0×12MM screw.                                                                                                                                
b: Place the front wheel assembly in the designated area as shown in the figure, and place the 
    steering linkage on the steering lever, then use ST4. O × 12MM screws to fix it on vehicle body.

shock absorber



3、Install the front bumper and front support

4、Install the rear support

a. As shown in the figure, place the front bumper in the designated area, then use 
   ST4.0×12MM screw to fix it on the vehicle body.                                                    
b. As shown in the figure, place the front support in the designated area, and then use 
   ST4.0×12MM screws to connect the front bumper and the vehicle body.

As shown in the figure, place the rear bumper in the designated area, then use ST4.0×12MM 
screw to fix it on the vehicle body.

a：As shown in figure a, place the spring and shaft sleeve into the rear axle fixing seat，and 
     pass the rear axle through to fix it.Then fix the assembled rear axle seat on the vehicle body 
     with a ST4.0×12MM screw.                                                                                                                                
b: Place the front wheel assembly in the designated area as shown in the figure, and place the 
    steering linkage on the steering lever, then use ST4. O × 12MM screws to fix it on vehicle body.

rear bumper

front bumper 



5、Install the wheels

6、Install the Doors

First, distinguish the left and right doors, and then place them on the vehicle body 
accordingly. Using ST4.0 ×12mm screws to fix it.

a. Fix the drive joint to the wheel with ST4.0×12MM screws.                                    
b. Insert the gasket onto the front wheel shaft, then insert the front wheel onto it,  and insert another 
    gasket. Lock it with a lock nut and cover it with the wheel cover cap.                                                                                           
c. Fix the drive motor on the rear axle, then install the wheel with drive joint on the rear axle, and then 
    insert the gasket onto the rear axle. Lock it with a lock nut and cover it with a wheel cap. 

a.
b.

c.

fixer



7、Install the rear backrest

8、Install the steering wheel

First, take out the rear backrest, then align the the corners of left and right rear backrest 
with the rear backrest slot, and press hard, once you hear the click voice, which 
indicates the installation is in place.

a. Fix the drive joint to the wheel with ST4.0×12MM screws.                                    
b. Insert the gasket onto the front wheel shaft, then insert the front wheel onto it,  and insert another 
    gasket. Lock it with a lock nut and cover it with the wheel cover cap.                                                                                           
c. Fix the drive motor on the rear axle, then install the wheel with drive joint on the rear axle, and then 
    insert the gasket onto the rear axle. Lock it with a lock nut and cover it with a wheel cap. 

Connect the the steering wheel connector to the vehicle body connector, then insert the steering 
wheel onto the Instrument panel fixing column, and then press hard, if you hear the click voice, which 
indicates that the installation is in place.

a.

b.



9、Install the windshield and rearview mirror

10、Install the seat

a. First, take out the windshield, and then align the windshield corner with the car body slot. 
    Press down firmly to hear a click, which indicats that the installation is in place.                                                                                         
b. Distinguish the left and right rearview mirrors first, and then place the it in the designated 
    area.

First connect the positive pole of power supply, and then place the seat in the designated 
position, aligh the protruding points with the car body slot. Then screw down the fixing holes 
on the front of the seat and both sides of the backrest clockwise. Insert the charger into the 
charging hole when charging, and the entire car will have no function during charging.

a.

b.



11、Install the rear spare wheel

10、Insert 2 AAA1.5 batteries into remote control

First, use a screwdriver to unscrew the screw on the battery cover, and remove the the 
cover, place two AAA 1.5V batteries. Then, cover the battery cover and lock it with screw.

Before use the remote control, frequency alignment is required. Please refer the instructions 
on remote cover for frequency alignment.

First, take out the spare tire, and then align the corner of the spare tire with the slot in the 
vehicle body. Press hard to hear a click, indicating the installation is in place.
Note: If the other tires is damaged, the spare tire can be used to replace them.

battery container cover

AAA1.5V

a. First, take out the windshield, and then align the windshield corner with the car body slot. 
    Press down firmly to hear a click, which indicats that the installation is in place.                                                                                         
b. Distinguish the left and right rearview mirrors first, and then place the it in the designated 
    area.



 WARNING: To reduce the risk of injury,adult supervision
 is required. Never use in  roadways, near motor vehicles, on or 
near steep inclines or steps,swimming pools or other bodies of 
water, always wear shoer, and never allow more than one rider.



(1) starting with engine sound when head and rear lights are lightening.
(2) shiefting forward back switch into forward position,pedalling on the accelerator,vehicle 
     moves forward.
     shiefting forward back switch into back position,pedalling on the accelerator,vehicle moves  
     back.
(3) there are horn and music buttoms on steering wheel.
     the battery indicator shows voltage after starting.
     please checking MP3 and USB accesses by according to instruction.
(4) turn off and disconnecting batteries when it is not used, but doing re-charging every 
     month.














